
J 

5. 

Térkőszükséglet 1,2 m: 
11 8x1 1,8 cm-es kocka 27db 
1 7,8x1 1,8 cm-es tégla 39 db 

6. 

Térkőszükséglet 1,07 m: 
5,8x1 1,8 cm-es kistégla 22db 
1 1,8x1 1,8 cm-es kocka 27db 
1 7,8x1 1,8 cm-es tégla 26 db 

7. 	 8. 

Térkőszükséglet 1,07 m: 
	

Térkőszükséglet 1,07 m: 
1 1,8x1 1,8cm-es kocka 38db 

	
11 ‚8x1 1,8 cm-es kocka 25,5db 

17,8x1 1,8 cm-es tégla 26db 
	

11 ‚8x1 7,8 cm-es tégla 34db 

10. 9. 

Térkőszükséglet 0,66 m: 
5,8x1 1,8 cm-es kistégla 49db 
11 ‚8x1 1,8cm-es kocka 24db 

Térkőszükséglet 1 m: 
1 1,8x1 1,8 cm-es kocka 28db 
1 1,8x1 7,8 cm-es tégla 28db 
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